Locknut PowerSfop‘R

ASM ovorur neV

@ BESE @ CAD Download

(M6]-[M27]

SW 1 H G H
@ ﬁ O -
M (B)

I v;ﬁ B4 - mm
BRAND—Zby S

S M H B = P.XXXX = P.XXXX LR
ASM-M6-0.5 M6x0.5 3.2 10 M6 -0.5 2
ASM-M8-0.75 M8x0.75 4 13 M8 -0.75 M8 -0.75 3
ASM-M8-1 M8x1 4 13 M8 -1 M8 -1 3
ASM-M10-1 M10x1 5 13 M10-1 M10-1 3
ASM-M12-1 M12x1 6 14 M12-1 M12-1 5
ASM-M14-1 M14x1 8 17 M14-1 M14-1 10
ASM-M14-1.5 M14x1.5 8 17 M14-1.5 M14-1.5 10
ASM-M20-1.5 M20x1.5 10 24 M20-1.5-M20-1.5L M20-1.5 20
ASM-M25-1.5 M25x1.5 12 30 M25-1.5-M25-1.5L M25-1.5 35
ASM-M27-1.5 M27x1.5 12 32 M27-1.5 M27-1.5 40
ASM-M27-3 M27x3 12 32 M27-3 M27-3 40
ASM-M33-1.5 M33x1.5 10 41 |37 |6 |M33-1.5-M33-1.5L M33-1.5 40
ASM-M45-1.5 M45x1.5 10 60 |55 |8 |M45-1.5-M45-1.5L M45-1.5 100

°® BEIEE mz @ 1upuows
ASM-M10-1
“]

fiigIE IV I TR EYI—~BELEDEL TN

NBIK sgasvoas \, » 0575-23-1162 % » info@nbk1560.com I ) https://www.nbk1560.com NBIKK sgirsvoai \\ » 0575-23-1162 % » info@nbk1560.com I ) https://www.nbk1560.com



